
l;=g+= sfo{qmd ;+s]t g+= jh]6 >f]t

1
 nfdf] k'nsf] cuf8L j]u lt/ km'njf/L k|ltIffno kmnfd] cf/fd s'rL{ lgdf{0f of]hgf  

31159 300000 jfsL df}=

2 nfdf] k'njf6 j8f sfof{no jf6f] k}bn dfu{ lgdf{0f of]hgf 31151 550,000 jfsL df}=

3 jfb's vf]k ejg dd{t of]hgf 31112 50,000 jfsL df}=

4 ;fd'bflos ejg Kni6/ e¥ofË lgdf{0f of]hgf 31112 200000 jfsL df}=

5 j]uvf]nf j]u sflnsf lg=df=lj= dd{t of]hgf 31112 200000 jfsL df}=

6 hfv'/LkfgLjf6 ?O;] Eo'6fj/ jf6f] lgdf{0f of]hgf 31151 600000 jfsL df}=

7 lrdvf]nfdf :jf=rf}sL lgdf{0fsf nflu hUuf vl/b sfo{s|d 31411 1000000 jfsL df}=

8 u}/sf6] 36\6 df]6/jf6f] lgdf{0f of]hgf 31151 276000 jfsL df}=

9 j8f g+=@ /fv' eujtL ?O;] Eo" 6fj/ lgdf{0f of]hgf 31159 1000000 jfsL df}=

10 Ps 3/ Ps wf/f sfo{qmd eujlt 31156 1500000 jfsL df}=

11 j8f g+= @ hfg] jf6f] lgdf{0f of]hgf 31151 200000 jfsL df}=

12 1fg]bo df=lj=sIff Joj:yfkg sfo{s|d 22522 150000 jfsL df}=

13 lkKn] b]jL dlGb/ 3]/fjf/ of]hgf 31113 400000 jfsL df}=

14 d'lQmwfd ljBfno zf}rfno lgdf{0f of]hgf 31158 300000 jfsL df}=

15 j8f g+=# /fv' lkKn] d=j=;xsf/LnfO{ sDKo"6/ vl/b of]hgf 31122 100000 jfsL df}=

16 /fv' lkKn] v]nd}bfg 9nfg lgdf{0f of]hgf 31159 200000 jfsL df}=

17 b'n]kfgL df]6/ jf6f] lgdf{0f of]hgf 31151 110000 jfsL df}=

18 j8f g+=# df ljBfno ;'wf/ of]hgf 31159 500000 jfsL df}=

19 /fds'nLsf]6 vf=kf=of]hgf 31156 50000 jfsL df}=

20 k}/fvf]N;fjf6 ljBfno uf]/]6f] jf6f] lgdf{0f of]hgf 31151 150000 jfsL df}=

21 l5k|L8f8fjf6 sfG5Lufp jf6f] lgdf{0f of]hgf 31151 100000 jfsL df}=

utsf] jfsL j}s df}Hbft /sdjf6 vr{ ug]{ u/L :jLs[t u/]sf sfo{qmd tyf of]hgfx?-cf=j=)&%.)&^_



22 lzj cf=lj= Joj:yfkg of]hgf 31159 100000 jfsL df}=

23 bld{hf 9Lls dd{t of]hgf 31159 100000 jfsL df}=

24 j'Sn ljB't lj:tf/ of]hgf 31153 150000 jfsL df}=

25 bUgfd :jf=rf}sL Joj:yfkg sfo{s|d 22522 200000 jfsL df}=

26 j8f g+= $ bUgfd bld{hf df]6/ jf6f] lgdf{0f of]hgf 31151 400000 jfsL df}=

27 ;fd'bflos :jf:Yo OsfO{ :yfkgf tyf Joj:yfkg sfo{s|d bld{hf 22522 300000 jfsL df}=

28 tftf]kfgL s'08 ;+/If0f sfo{s|d bUgfd 22522 150000 jfsL df}=

29 cf}n hfg] 3fu|]vf]nf k'n lgdf{0f of]hgf 31151 200000 jfsL df}=

30 j8f g++= % lem 6f]8|s] dlGb/ / hUuf ;+/If0f sfo{s|d 22522 500000 jfsL df}=

31 dx]Gb| df=lj= ejg dd{t of]hgf 31112 300000 jfsL df}=

32 lem+ j:tL k'/fgf] jf6f] dd{t of]hgf 31151 100000 jfsL df}=

33 Wofuf|L vf]nf sr jGw 9nfg lgdf{0f of]hgf 31159 300,000 jfsL df}=

34 kfvfkfgL ;8s UofjLg tyf kvf{n lgdf{0f of]hgf 31151 500,000 jfsL df}=

35 sfnd'9f tf]/Ljf8 uf]/]6f] jf6f] lgdf{0f of]hgf 31151 100,000 jfsL df}=

36 kfvfkfgL ehg3/ tyf dlGb/ lgdf{0f of]hgf 31112 400,000 jfsL df}=

37 j8f g+= ^ kfvfkfgL cd/ df=lj 6\; lgdf{0f of]hgf 31112 500,000 jfsL df}=

38 /fO{vf]/ ljBfno dd{t of]hgf 31112 100,000 jfsL df}=

39 j8f g+ & lrdvf]nf ;fd'bflos ejgnfO{ zf}rfno lgdf{0f of]hgf 31158 200,000 jfsL df}=

40 lrdvf]nf d08nL dlGb/ 3]/fjf/  of]hgf 31159 500,000 jfsL df}=

41 uf}8fd'gL dnf8 vfg]kfgL dd{t of]hgf 31156 15000 jfsL df}=

42 cNnf] d]lzg vl/b of]hgf lrdvf]nf 31122 200000 jfsL df}=

43 cd/ df=lj= lrdvf]nf ejg dd{t of]hgf 31112 500,000 jfsL df}=

44 j8f g+= * s'O{g]d+un] pdLvs{ s'Og] df]6/ jf6f] lgdf{0f of]hgf 31151 300000 jfsL df}=

45 l/t'8 df=lj= v]nd}bfg lgdf{0f of]hgf 31159 600000 jfsL df}=

46 t];\f] uf]/]6f] jf6f] dd{t of]hgf 31151 50000 jfsL df}=



47 5/L cfO;kmn uf]/]6f] jf6f] lgdf{0f of]hgf 31151 100000 jfsL df}=

48 bjf8L v]n d}bfg dd{t of]hgf s'Og]d+un] 31159 100000 jfsL df}=

49 kfKn]vs{ hg;'Gb/ ljBfno dd{t of]hgf 31112 150000 jfsL df}=

50 d+un] >L s[i0f cfdf ;d'x zf}rfno lgdf{0f of]hgf 31158 200000 jfsL df}=

51 s'O{g] o'jf Snj v]n d}bfg of]hgf 31159 100000 jfsL df}=

52 b|\f/L l/uf/ u]6 lgdf{0f of]hgf 31159 100000 jfsL df}=

53 j8f g+= @ cGgk"0f{ cfwf/e"t lj= u]6 lgdf{0f of]hgf 31159 100000 jfsL df}=

54 k|fljlws lzIffno :yfkgf tyf Joj:yfkg of]hgf 22522 2000000 jfsL df}=

55 :jf:Yo :jod;]ljsfnfO{ oftfoft vr{ k|f]T;fxg sfo{s|d 22522 864000 jfsL df}=

56 eujlt :jf=rf}sL kmlg{r/ vl/b 31115 100000 jfsL df}=

57 lkKn] :jf=rf}sL kmlg{r/ vl/b 31115 100000 jfsL df}=

58 ufoqL dlGb/ ;+/If0f sfo{s|d lkKn]  22522 350000 jfsL df}=

59 un]Zj/ /f3'3f6 df}jfkmf6 ;8s lgdf{0f of]hgf 31151 100000 jfsL df}=

60 /fgLkf}jf v]n df}bfg lgdf{0f of]hgf 31159 100000 jfsL df}=

61 dfkmvs{ j:tL ;+/If0f sfo{s|d 22522 50000 jfsL df}=

62 lem+ v]nd}bfg dd{t of]hgf 31159 300000 jfsL df}=

63 lkKn] j8f g+=# ltNlslg j:tL ;+/If0f sfo{s|d 22522 150000 jfsL df}=

64 ;dk'/s sf]if 22522 3936506 jfsL df}=

65 /fpkf/] ;6/ lgdf{0f of]hgf 31159 1700000 jfsL df}=

66 gful/s ;xof]u sIf :yfkgf sfo{s|d 22522 100000 jfsL df}=

67 d]nldnfkstf{ tflnd tyf d]=ldnfk s]Gb| :yfkgf sfo{s|d 22522 1,000,000 jfsL df}=

68 cfo'j]{b cf}ifwfnodf cf}ifwL vl/b sfo{s|d 31115 150000 jfsL df}=

69 s[lif Joj;fo k|j4{g sfo{qmd 22522 1500000 jfsL df}=

70 hg k|ltlglw tyf sd{rf/Lx?sf nflu Ifdtf clej[l4 tflnd sfo{s|d 22522 500000 jfsL df}=

71 sfof{nodf OG6/g]6 ;'ljwf lj:tf/ sfo{qmd 22522 300000 jfsL df}=



72 pkef]tmf ;ldlt,o'jf Snj,6f]n;'wf/ ;ldlt cled'vLs/0f sfo{qmd 22522 500000 jfsL df}=

                                                    hDdf 29,351,506 jfsL df}=


